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Writing
Section A

Question 1

Each of the five sentences is marked separately and is worth a maximum of 2 marks for A02 (10 marks in total).
The whole sentence should be considered when awarding the mark. The maximum mark for Question 1 is 10.

Mark AO2

2 The relevant message is clearly communicated.

1 The message is relevant but has some ambiguity and causes a delay in
communication.

0 The message is irrelevant or cannot be understood.

Example answers:

1.1 Veo a una profesora.

1.2 Hay estudiantes.

1.3 Estdn en una clase.
1.4 Estudian ciencias.
1.5 Parecen contentos.

More guidance on applying the marking criteria for this task is available on the AQA website.

Question 2

For this question there are five compulsory bullet points, which are assessed for AO2 (5 marks) and AO3 (5
marks), as specified in the criteria below. The maximum mark for Question 2 is 10. The student is expected to
produce approximately 50 words over the whole question. The number of words is approximate and you must
mark all work produced by the student, even if it is well beyond the suggested number of words.
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Level Mark AO2

5 5 ¢ All five bullet points are covered.
¢ Communication is clear.

4 4 ¢ At least four bullet points are covered.
e Communication is mostly clear. There are occasional lapses in clarity.

3 3 ¢ At least three bullet points are covered.
e Communication is generally clear. There are several lapses in clarity.

2 2 ¢ At least two bullet points are covered.
e Communication is sometimes clear. There are regular lapses in clarity.

1 1 * At least one bullet point is covered.
e Communication is often not clear. There are many lapses in clarity.
0 0 The content does not meet the standard required for a mark at this tier.
Level Mark AO3
5 5 ¢ There is a variety of vocabulary and grammatical structures.

¢ There may be some errors, but these are minor.

4 4 * There is some variety of vocabulary and grammatical structures.
* There are frequent minor errors but with an occasional major error.

3 3 * There is some attempt at a variety of vocabulary and grammatical structures.
¢ There are frequent minor errors, together with some major errors.

2 2 ¢ There is use of limited or repetitive vocabulary and grammatical structures.
¢ There are frequent minor errors and a number of major errors.

1 1 * There is little awareness of appropriate vocabulary and grammatical structures.
¢ There are errors in the vast majority of sentences.

0 0 The language does not meet the standard required for Level 1 at this tier.

Example answer:

Vivo en una ciudad pequefia cerca de la costa. Muchos turistas visitan el centro histérico donde hay monumentos
importantes y edificios bonitos. Mi lugar favorito es el parque porque me gustan los espacios verdes. Mi casa es
moderna y tiene ocho habitaciones. Mi dormitorio es grande, con una cama cémoda.

Question 3
This question is worth a total of 5 marks (1 for each word). The word written by the student must be totally

correct, including any accents, for the award of 1 mark.
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Answers:

3.1 interesante
3.2 estd

3.3 azul

3.4 Cudl

3.5 que
Question 4

The maximum mark for this translation task is 10 marks. The translation is divided into 15 elements and a tick is
awarded for each element that is communicated, despite any minor inaccuracies. The number of ticks out of 15
equates to a mark out of five, as shown in Grid One below the answers. When awarding the marks for Grid One
and Grid Two, the response across all five sentences should be considered as a whole.

Answers
Element of original language | Indicative content Alternative acceptable renderings
1 | have Tengo Yo tengo
2 two sisters dos hermanas -
3 and a brother. y un hermano. -
4 | don’t like No me gusta -
5 red meat. la carne roja. -
6 She always Ella siempre Siempre
7 speaks French habla francés -
8 in class. en clase. en la clase.
9 | am going to be Voy a ser Yo voy a ser
10 | alawyer abogado abogada
11 | inthe future. en el futuro. -
12 | Yesterday, Ayer,
13 | I bought compré yo compré
14 | presents regalos unos regalos
15 | for my father’s birthday. para el cumpleafios de mi -
padre.

The number of ticks out of 15 in column 2 of Grid One below equates to a mark out of five in column 3.
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Grid One: Rendering of the original meaning

Level Number of Marks AO3
ticks credited

5 13-15 5 The meanings of all or nearly all elements of the original
language are sufficiently rendered.

4 10-12 4 The meanings of most elements of the original language are
sufficiently rendered.

3 7-9 3 The meanings of some elements of the original language are
sufficiently rendered.

2 4-6 2 The meanings of few elements of the original language are
sufficiently rendered.

1 1-3 1 The meanings of very few elements of the original language are
sufficiently rendered.

0 0 0 No elements of the meanings of the original language are
conveyed.

Once the mark for Grid One is awarded, a mark out of five is awarded for Grid Two. This mark is based on the
student’s response across all five sentences as a whole.

Grid Two: Knowledge of vocabulary and grammar

Level Marks AO3

5 5 ¢ Very good knowledge of the required vocabulary. Few if any inappropriate or
omitted items.
e Grammar is highly accurate and any errors that occur are only minor.

4 4 * Good knowledge of vocabulary. Some inappropriate or omitted items.
e Grammar is generally accurate with regular minor errors.

3 3 e Satisfactory knowledge of vocabulary. Regular inappropriate or omitted items.
e Grammar is more accurate than inaccurate. Regular major and minor errors.

2 2 e Limited knowledge of vocabulary. Many inappropriate or omitted items.
e Grammar is generally inaccurate. Many major and minor errors.

1 1 ¢ Very limited knowledge of vocabulary. Few appropriate items.
e Grammar is highly inaccurate. Major and minor errors in all or almost all
sentences.

0 0 The language produced does not meet the standard required for Level 1 at this
tier.

More guidance on applying the Translation into Spanish marking criteria is available on the AQA website.
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Section B

Question 5

The maximum mark for this question is 15 (10 marks for AO2 and 5 marks for AO3). All bullet points must be
covered, but there is no need for equal coverage of the bullets.

Level Mark AO2

5 9-10 ¢ All three bullet points are covered.
¢ Communication is clear.
¢ |deas are regularly developed with a lot of relevant information being conveyed.

4 7-8 o All three bullet points are covered.
e Communication is mostly clear but perhaps with occasional lapses in clarity.
¢ Ideas are often developed with quite a lot of relevant information being conveyed.

3 5-6 ¢ At least two bullet points are covered.
e Communication is generally clear but there are likely to be lapses in clarity.
¢ Afew ideas may be developed and some relevant information is conveyed.

2 3-4 ¢ At least one bullet point is covered.
¢ Communication is sometimes clear and there are regular lapses in clarity.
o Little relevant information is conveyed.

1 1-2 ¢ At least one bullet point is covered.
¢ Communication is often not clear and there are very many lapses in clarity.
¢ Very little relevant information is conveyed.

0 0 The content does not meet the standard required for a mark at this tier.
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Level Mark AO3

5 5 e A good variety of vocabulary is used.

¢ There are regular attempts at complexity of language and structure.

¢ There are references to all three time frames which are mainly successful.

¢ Any errors are mainly minor but some major errors may occur, particularly in
complex structures and sentences.

4 4 ¢ Avariety of vocabulary is used.

¢ There are some attempts at complexity of language and structure.

¢ There are references to at least two different time frames which are
mainly successful.

¢ Errors are mainly minor but some major errors may occur.

3 3 e Some variety of vocabulary is used.

¢ There may be occasional attempts at complexity of language and structure.

e There are references to at least two different time frames, although these may not
always be successful.

¢ There may be some major errors, and minor errors occur regularly but overall the
response is more accurate than inaccurate.

2 2 ¢ A limited variety of vocabulary is used.

¢ The language is mainly simple but there may be some attempts at longer sentences
with appropriate linking words.

¢ There may be no successful references to different time frames.

¢ There may be frequent major and minor errors and overall the response is
generally inaccurate.

1 1 e The range of vocabulary is narrow and / or repetitive.

¢ The language is simple and sentences are short or may not be
properly constructed.

e There are no successful references to different time frames.

¢ There may be frequent major and minor errors and overall the response is
highly inaccurate.

0 0 The language does not meet the standard required for Level 1 at this tier.

5.1 Example answer:

Mi famosa favorita es la cantante espafiola Aitana. He visto su documental en Netflix y es muy divertido. Aitana es
muy simpdtica e inteligente.

La semana pasada, pasé mucho tiempo en las redes sociales y vi muchos videos en Netflix. Ademds, hice mis
deberes de inglés online. Usé Internet para buscar informacion.

Este fin de semana, voy a descansar en mi dormitorio por la mafiana, luego voy a ir de compras con mis amigos.
Me gustaria comprar un reloj y comer en un restaurante. jSerd muy divertido!
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5.2 Example answer:

En mi familia hay cuatro personas; mi padre, mis dos hermanas mayores y yo. Me llevo muy bien con mis
hermanas y siempre hacemos muchas actividades, por ejemplo, corremos en el parque o vamos de compras.

La semana pasada hice yoga para no tener estrés. Me gusta estar tranquila y no vivir tan rdpidamente. El jueves
pasado di un paseo muy largo por el puerto.

Soy vegana y mi dieta es bastante sana. Sin embargo, voy a reducir el azucar en mi dieta y beber mds agua.
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